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Question 1
Question text

1% increase in the stock of infra. is associated with how much ?%o increase in GDP across
all countries

Select one:
a.2
b.3
c.1

Question 2
Question text

20% sustained inc. in public investment in infra., Govt can accelerate real growth by ?%
pts in medium to long run (6 to 10 yrs) after the policy change

Select one:
a. 10

b. 3

c.18

Question 3
Question text

Growth raises the demand for infrastructure with increase in income levels & change in the
composition of infrastructure occurs in low income countries in ?

Select one:
a. transport sector

b. Power sector

c. basic infrastructure

Question 4
Question text

The success of ‘Make in India’ program as manufacturing competitiveness critically
depends on ?

Select one:



a. infrastructure
b. investment

¢c. insurance

Question 5
Question text

Lack of infrastructure is the primary constraint on ? growth

Select one:
a. economic
b. social

c. environmental



